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Q1: a) What are the challenges faced by a genetic counselor? Elaborate with the ggﬁJ &
examples. 3% g

b) What is androgen insensitivity syndrome? How does it lead to interxex? gﬁgﬁ htitHe ethical
issuese linked to intersex genetic counseling. % 5 op2,.5%2.5] COIV
Q2: a) How will you conduct a counseling session for alQ years old ei%%fg}

istig, child?
b) All daughters of the affected man will inherit the mutant gene. Justify L%flr answer by

providing suitable examples. o [2.5+2.5] COII
é‘ﬂ%:k;& =
Q3: a) Explain the merits and demerits of directive and not -dlr%é’hve genetic counseling.
b) What are the common malformations in Bardet-Bjﬁ@l%yﬁdr@dme? [2.5+2.5] COI
e

Q4: a) Describe the ways and basis of risk est'nfa%%%fi’a& disease/disorder during prenatal

. & A
testing. %2;2%:

b) What is 23&Me? Elaborate its significafice™, ,

¢) What is the genetic basis of Huntingtgggg@&%g?a%a? [2+2+1] COll
Q5: a) What are the medical and, il tli}g,}?’é“@ﬁsiderations of genetic counseling of deaf?

b) Is germ line gene therapy e@f}?ﬁ%&deeptable? Justify your answer. [2.5+2.5] COlI

Q6: a) A patient is sufferifig froj‘%?ﬁlge 2 symptoms of Parkinson’s disease at the age of 62. Plan
a genetic counseling ,sessio‘ﬁgr him and for his family members.
b) Why does gengﬁ%@ﬁuﬂ‘%elﬁhg testing for Parkinson’s disease is complex? [2.5+2.5] COIV
i %,
F *i‘\.}iﬁq (‘E‘#

Q7: a) A person is hqj—-ing normal complement of 46 chromosomes; however one member of his
chromosgrﬁe‘?'%]ﬂ_}:peii=gg@0ntains an inversion sequence covering the 80% of its length. He would like
to plagshis family. What can you predict about the probability of abnormality/normality of the
futug%elgifﬂg@n assuming that his wife is not having any chromosomal aberrations?
’l(.;‘%};@b \7*}%%‘%% )
b):Whatis Klinefelter syndrome? Explain its cause, diagnosis and treatment options available.
c) The frequency of two alleles in a gene pool is .25 (A) and 0.75(a). Assume that population is
in Hardy-Weinberg equilibrium:- i) Calculate the percentage of heterozygous individuals in
population. ii) Calculate the percentage of homozygous individuals in population.

[2+2+1] COll



